MIAM |-=DADE MIAMI-DADE COUNTY, FLORIDA
B METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAML FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Eastern Metal Supply, Inc.
4268 West Roads Drive
Riviera Beach, Florida 33407

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.050” Solid Bertha Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 01-058, titled “ 0.050” Solid Bertha Aluminum Storm Panel”, sheets
1 through 15 of 15, prepared by Tilteco, Inc., dated August 27, 2001, bearing the Miami-Dade County Product
Control Approval stamp with the Notice of Acceptance number and approval date by the Miami-Dade County
Product Control Division. ' :

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein,

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply

with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration datc may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 00-0602.04 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 01-0516.06
Expiration Date: 08/07/2003
Approval Date: 03/21/2002
Page 1




e e e e it a1

GENERAL NOTES:

} 15.119" (TOTAL. WIDTH) J _ e . 1 19% (TOTAL WIDTR)

» 5 000 1.
12.000" (EFFECTIVE WIDTH)
EFFECT]
00" (EFFECTIVE wioTH)

1500~ | 4473 T 4,473 ——

AS APPLICABLE !
(Tvp.) |

11500" 7500'

STORM PANEL'S AGEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE

LAB REFORT £ 1022.01-96 AND §# 0221.01-01,

All ALUMINUM SHEET METAL PANELS SHALL HAVE 5052-H32 ALLOY OR 3004—H34 ALLOY.
AlL ALUMINUM EXTRUSIONS SHALL BE 6063—T8 ALLOY UMLESS OTHERWISE NOTED.

ALL SCREWS TO BE STAINLESS STEEL 204 -OR 318 SERIES.

BOLTS TO BE 2024—T4 ALUMINUM ALLOY, GALVANIZED OR STAINLESS STEEL, WITH 36 lsi MNWUM
YIELD POINT.
ANCHORS TD WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE:

/
-~ 2.250" |-

1.500[ -+

i

o

-] 2,125 le——3.875"—{ 2.125" |=-

-~ 2.250

momoa LN

—~ 2.125" |-

HALF PANEL = 1/4° 8 TAPCON ANCHORS AS MANUFACTURED 8Y I.T.W. BUILDEX (REGULAR OR 410 5.5.) AND

1.5001 ~

FULL PANEL

ELCO TEXTRON (REGULAR).
— 1/4" # CRETE-FLEX 5S4 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.
@ SOLID STORM_PANEL ~ 1/4" 8 CF TAP—GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU-FAST CORPORATION.
2 At — 1/4" # ZAMAC NAILIN ANCHORS AS MANUFACTURED BY THE POWER FASTENINGS, INC.
SCALE : 1/2" = 1 — 1/4" @ x 7/8" CALK—~IN ANCHORS, 1/4" # ELCO male & famals "PANELMATE" OR 1/4" # ELCO male
PANELMATE PLUS" AS MANUFACTURED HY THE POWER FASTEMINGS, ING. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS OR CRETEFLEX S54 IS 1| 3/4%
FOR ZAMAC NAILIN IS t 3/8%; FOR CF TAP~GRIP ANCHORS IS 1 1/4": FOR ELCO PANELMATE AND

ELCO male "PANELMATE PLUS™ IS 2"

A2) 7/8" CALK—~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONGRETE.
- NO EMBEDMENT INTO STUCCO. SHALL BE -PERMITTED.
I e CONCRETE ANCHORS (SEE SCHEDULE) -**i;u-' 1/4" #-20 SCREWS USED SHALL 8E 1 °1/2” LONG MINIMUM SHOULD STUCCO EXIST, AND 1°

MINIMUM FOR WALLS WITH NO

Max, T
1 Min. ! Min. A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE
° ° P s EXISTING WALL OR FLOOR., ANCHORS SHALL BE LONG ENOUCH TO REACH THE MAIN
STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) & A2).

T I T I T T~ T 7 7T I 79I T™T171 T T7177 ABO
(8) TO EXISTING CONCRETE BLOCK WALL:
— 1/4" 8 TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX (REGULAR OR 410 5.5.) AND
ELCO TEXTRON (REGULAR).
~ 1/4" # CRETE-FLEX S54 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.
~ 1/4" 8 CF TAP—-GRIF ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU~FAST CORFORATION.
~ 1/4" # ZAMAC NAILIN ANCHORS AS MANUFACTURED BY THE POWER FASTENINGS, INC.
— 1/4" & x 7/8" CALK—~IN ANCHORS, 1/4" # ELCO male & famale "PANELMATE" OR 1/4" 4 ELCO male
"PANELMATE PLUS® AS MANUFACTURED 8Y THE POWER FASTEMINGS, INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
8.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, ZAMAC NAILIN, CF TAPGRIP, ELCO PANELMATE, ELCO male
*PANELMATE PLUS™ AND CRETE—FLEX 5S4, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4%
B.2) 7/8" CALK~IN ANCHORS SHALL BE ENTERILY EMBEDDED INTO THE CONCRETE BLOCK UNIT.
INIT. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
1/4% a—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1°
MINIMUM FOR WALLS WMITH NO STUCCO.
B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FQUND ON THE EXISTING
WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH
PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B.1) & B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOAMMENDATIONS AND SPECIFICATIONS
OF THE ANCHOR'S MANUFACTURER.

7.  PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS
1 THRU 18 (SHEET 3 THRU 7 OF 15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. T SHALL BE THE RESPONSIBILITY OF THE GCONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE
WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS . SHUTTER SHALL ONLY BE
ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

9. SHUTTER MANUFACTURER'S MBEL SHALL BE PLACED AT BOTTOM OF HCH PANEL.
LABEL SHALL READ AS FOLLOWS.

o T T Tl I e T 11T TR COMPONENTS T AL SUPPLY, NG, B e

MIAMI—-DADE COUNTY PRODUCT CONTROL APPROVED. Date)> \ 2

L3 CONCRETE ANCHORS (SEE SCHEDULE) RIETN a?.,,m;m;ﬁ»mﬁcmm;
1 4, SOLID STORM PANEL 1" Min. bi :
PICAL E TION

N T S MIAMI-DADE COUNTY

< qb

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

1/4 Max. GAP 1/4" Max. GAP 0.050" SOLID BERTHA ALUMINUM STORM PANEL Py
1

INTN TN TN TN | / TILIEC O e, \| EASTERN MeTaL SUPPLY, iNc | "a”

4258 WEST ROADS DRIVE
SECTION A—A N TILLIT TESTING & ENGINCERING COMPANY RVIERA BEACH, FL 13407 01—-058
. 8585 N.W, J6th, st.ksn. 217, IRGINK GARDENS, n.'.mee!
N T S Phons : 711330 . F;:m (305)071—1321 ram T o | e —_— DRAWING No

EB~

0 ' WALTER A TILLIT Jr. P. E. 1 o sa-172 |m7,m| 7 - = ‘
4/ FLORIDA Lic, t 44167 r GENERAL 1, ] - - SHEET 1 OF 15




3750°

1.961 e

—\  (3) 5/8" HOLES
A \\ AT TOP LINE

?
!
wa
!
i

(2{_ 5/18" HOLES ______
AT BOTTOM LINE

45-]-——5 1/4'———.] e 347 N

FOR 1/4"8~20x1"
8.5 HACHINE
SCREW TAPCONS
+—— —~ - - — _é_....
1 12" =]

14

@ 3/16"°x7"x14" LONG WALL PLATE

SCALE: J/18° = 1°

COMPONENTS

/-ﬂ..”#
IEGas
L !
¥ 3
LINTT3

3

~ T

w7305 [T 4 S S SO
):q / iyt

ALTERNATE s ’
LEG LOCATION

[-1.125"-w 875
— 2.000
125"

SCALE* 3/8° = 1”

Approved as complying with the
Florida Bujding Code

Bl 2007,

NOA -

HOI-OS\ e O,
Miami Dadé Product Contrel

By

»

MIAMI—DADE COUNTY

1

bEI'AIL 12 STUD W/ WING NUT

(O

/ TILIEC O ne. \

THLIT TESTING &
4383 N.W. Jath, Sta. 217, VRGINN GARDENS, FL
Phane : 1~1830 . Fox ; (3058711531
EB-0DUE719
WALTER A TILLIT Jr. P, E.

’?/WA? I \r

FLORIDA Lic. # 44187
A

JJIIIL

0.050" SOLID BERTHA ALUMINUM STORM PANEL “xsjﬂ""
8/27,/01
EASTERN METAL SUPPLY, INC DATE
4268 WEST ROADS DRIVE
RIVIERA BEACH, FL 33407 01-058
LY. Ne DESCRINON o | M. M DESCAPTION oA DRAWING No
; "—‘—”m_:n ‘W;ﬂ - - ~— SHEET 2 OF 15

2

4 - -




Gont : CONCRETE  ANCHORS \
comcreTe AcHoRS x 88 cowemmages 7 (SEE STHEDAL) ~_ Y
NN g ey RO = @
N N T B 3
] N 1 || POURED S \\\ | 8 N ]{ [
W POURED N
| =TSN | S \ | SN |
| NN \\] | | ® SN NANY ! NN \‘& | l
> |_SEE SCHEDULE FOR | '
e g b : gumws | | O o goge | | O
| 3 ] : *roci NI : o | §
| § Y, || 8 l Y L || : | A | o
—T | =7 | T——p | T
ly z &
gl L & G ; S S
06ass | I g 3z o) || 3 ’ | o a ’ - ] 3
| ! ! 4 o [ l l s 14 ‘—507;8..3/4 s 0 ' §
) N . I - | TR 0
" ,
TN ¢ T TN T ¢ T ) o |
POUR i’ —( Pour POU I I I g POUR 7 Cont. l
CONCRETE CONCRETE | [ ] CONCRETE CONCRETE :
o | B oS aroneers ] e woer 5 ) |
REQUIRED /-l | REQUIRED L] REQUIRED 7/ | | !_@ o u Z 1.1fa' | |
== | | = 7 (Wt Tz .
ST e 48 o | = =413 " win|
/-/ dudi N I T CONCRETE ANCHORS _ CONCRETE ANGHORS/7 7 CONCRETE ANCHORS” /] 6D Cont L;“;,U‘T‘?.” e e
?S.ENEC’;EC-’HE _ggfgons 7 ﬂﬁ § (SEE SCHEDULE) (SEE SCHEDULE) e ) , I (SEE SCHEDULE) 7 : ‘
/ Cont. ' §§| l /A
SECTION 2 SChE ;38" = 1" BUILD QUT INSTALLATION BUILD OUT INSTALLATIO
l SECTION 3 SCALE : 3/8° = 1° SECTION 4 SCALE : 3/8" = 1"
9
8
8
//ﬂ/ 7, ] ing with t
E D. = EDGE DISTANCE coved 25 comply ng e
| e : G e o g Beiag ol
 OF CONCRETE | Dat
Ao g oo 3 roduc Gl
Divisi }
§ By 77
»l NOTE FOR COMBINATION OF SECTIONS :
WALL MOUNTING SECTIONS CAN BE MAMI—DADE_COUNTY
SECTION © STUD COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 0.050" SOLID BERTHA ALUMINUM STORM PANEL AS SO

| ' l | a/27/0
ILIECO ne. EASTERN METAL SUPPLY, INC ey

SCALE : 3/8" = 1°
4268 WEST ROADS DRIVE

SECTION 1 TILLIT TESTING & ENGINEERING COMPANY -
NGTE : DETAIL OF SECTION @ STUD VALID ALSO FOR Rl g KT8l G et o W FIVERA BEACH, 7L S3t07 01-058
WALL MOUNTING INSTALLATION — SECTION 2 (TOP) EB-0006719 Wy w | oocwnaw | our | wv e | oocwnw | aar | ORAMING Ao
. 1 oD MN-172 X - -

WALTER & TILT Jr. P. . 2Tzl
U w) o _ FLORIDA Lic._ § 4416 2 ] Pﬁl i - — SHEET 3 oF 15




N \
N Pl 1/4 #-20 S. S. WACHINE (SEx” SCHEDULE) £ 0
CONCRETE ANCHORS -\ T W/ NUT & WASHER
(SEE SCHEDULE) N g 12°0. C ‘ h
s 8 7 Mln._’. POURED CONCRETE T,' .
L-——*‘J .
NEE &8 -
) § L1 0 1
POURED : N
CONCRETE N |
N | Cont.
RN N .
O\ N\ \‘ Cont.

S

2%
Max, PANEL LENGTH (SEE SCHEDULE, SHEET 9)

|
|
I
|
I
|
|
|

-

I i
|
1/4% 9-20 x 3/4°
| 07 %Nc;/.@{’ !
| 12 WG, | SEE SCHEDULE FOR
I
| l
|
l

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 8)

1 i
P
.
; g Min. s%mv ___-@
ALTERNATE
LEG LOCATION I ‘
o L
7)) e | TR
; 8)cont. I l Cant. : 4 .
CONCRETE g 7 750'l ! T 7507 §§
OR_CONCRETE 7 o | ; 1.125° Min. | .
BLOCK WALL W ? ! = L | S —
? __% S ////_/7//“’////// iz
e il 1° Min. POURED CONCRETE i
iy and i~k *E—z" um.«Z———‘-i REQUIRED b
—— /] 1/4° #-20 S. S. MACHINE CONCRETE ANCHORS / £ 0—%
(SEE SCHEDULE) ? Cont. sar W/ NUT & WASHER (SEE SCHEDULE)
/_*—‘. . C.

BUILD OUT INSTALLATION CEILING & FLOOR MOUNTING
— SECTION 5 scuc: s =1 INSTALLATION — SECTION 6

SCALE : 3/8" = 1"

E D. = EDGE DISTANCE
(SEE_SCHEDULE ON
SHEETS 10 & 11 OF 15)

NOTE' FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

Ll

POURED CONCRETE "

CONCRETE ANCHORS
(SEE SCHEDULE)

}
]

y:: ~20 x : ] @
Vi B
|1z 0 : — g

=3

j ! . 8

. L

I ¥ ] '

] ! =

SEE SCHEDULE FOR ' Q

Min. SEPARATION ] | | |
TO GLASS i | [

| | g

a

» e

3/1~ ;lL?z?Sx)y i ""@ 3
' 48' x 3/32 |
I gq'eofvc. ° | |
l U Cont. ﬁ?l.

! )
.-
7
} E D.
7/

SCALE : 3/8" = 1°

CALK—~IN OR
ELCO male/female
PANELMA

(SEE SCHEDULE) E [8
\\‘
POURED A
CONGRETE g N
OR CONCRETE
BLOCK WALL AN
REQUIRED N
SOV \\\\\\\.

OR CF TAP-GRIP

4

=

CALK—IN OR

ELCO. male/female
PANELMA
(SEE SCHEDULE)

— SECTION 8

Approved as complying with the
Florida Bujding Code
2} =

Date,
NOA#

Miami Dade Product Control

S5 Lo i

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

OR CF TAP—GRIP

WALL MOUNTING INSTALLATION (D. M.)

SCALE : 3/8" = 1°

MIAMI—DADE: COUNTY

0.050" SOLID BERTHA ALUMINUM STORM PANEL ‘ssc"“";.”"
8/27/01
|||_ | ECO ne EASTERN METAL SUPPLY, INC DATE
- 4268 WEST ROADS DRIVE
TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 01—-058
8585 N.W. J0th, Ste. 217, VRGN GARDENS, fL 13188
Phone : IEE',—%%G&’?;;Q (305)871-1531 — ) ICRPTION AT DRAWING No
WALTER A TILLIT Jr. P, E oo se-172 &/37/01 ] - .
FLORIDA Lic. # w4167 CENERAL i 7 = SHEET 4 OfF'13




CONCRETE ANCHORS

(SEE SCHEDULE)

N

50"
Max.

CALK—IN OR ELCO male/fsmale HWE.MATE

OR ELCO mole/female FANELMATE Fi

9 1 SIDEWALK BOLT on o
b ,{’5 6/1/4'5—20 TRUSSHEAD BOLT +
(SEE SCHEDULE FOR SPACING) \\\

I._SEE SCHEDULE FOR
Min, SEPARATION
TO GLASS

|
|

Cont.

o

1/4” 8-20 x 1" S.5.M.S.

{7/8'#):33

CONCRETE ANCHORS —]_
(SEE SCHEDULE)

SIS T

o
Wi
EJ"

N

AANNNARNNN

<

S —

POURED
CONCRETE
REOUIRE

\\\

CALK—~IN OR ELCO male/female PANELMATE
oR ELCO mall/famak HﬁNﬂJMTE' PLUS

\

1/4' #-20 x 1" S.SMS.
W/ 7/8' » x 3/32°

=

NUT @ 12° 0. C.

\

T T

S

Max. PANEL LENGTH (SEE SCHEDIAE, SHEET 8)
%

Cont.

WALL MOUNTING INSTALLATION
SECTION 9

SCALE : /8"

- 1"

E. D

= EDGE DISTANCE

(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

T 2
e | 7
BLOCK WAL )
i

17
Zn

Ao

CONCRETE ANCHORS —]-

(SEE SCHEDULE)

WALL MOUNTING INSTALLATION

ECTI [

SCALE : 3/8" = 1°

Min. )
e I e el B U S

CONCRETE ANCHORS n
(SEE SCHEDULE) \"‘ ——E&

Cont.

+ +
SIDE WALK BOLTS ARE ;7/4 FxJéJZ'THICK
HEAD MACHINE. SCREW

AS PE'R NOTES A2 & 32 (SHEET 1)

TRUSS HEAD BOLTS ARE /2 ox TH/B'THICK
HEAD MACHINE SCREW W,

{ AS PER NOTES A2 & B.2 (SHEET 1)

b?,&’ '4/1/4 L O TMASEAD BOLT + + POURED
(SEE SCHEDULE FOR SPACING) N 2788 v 3/32° CONCREIE | ';
N /-muc NUTS @ 12" O.C. \ \EEO-—T Ea. .
R SN N\
51 Am— i = | ——
—E== = | | ‘
]
™, |
> ‘ | | :
d Q | ' ] I (&) cont
&m0 N I
- REQUIRED | l
s 2 SSSR R 0 5
| | ]
5 | } 5 | | 5
: N N
SEE SCHEDULE FOR ! 3
: R i Lemmmwsel || :
w TO GLASS | ] } ] I ] §
a l A 1 i A l
= Iy £ \ B i T H
: ] P I
" | ' : | | | 3
3 | | g | | |
g i . | 3 | I ¥
g, | e 8 ' ; | ! | g
3 EVERY STUD | ' 3 778" 8 x 332 | o i
| @12°0. ¢ : - I WNG NUT @ | O
7 ///ﬂk | BREE : N
eounp ] 7 1 N1
G | L A
REQUIRED ! Y ¥ . =l | g E
== ply 1§ | e e RE| | 34
CONCRETE ANCH0R$7 T . S| ===
(SEE SCHEDULE) SN S A S A
I POURED : 1FSPT s 7
Cont. U REQUIRED ‘/J_J APPLICABLE
CONCRETE ANCHORS
(SEE SCHEDULE) I"E'D'“"‘
WALL UNTING INSTALLATIO
SECTION 11 CEILING & FLOOR MOUNTING
SCALE : 3/8° = 1° INSTALLATION SECTION 12
SCALE : 3/8" = 1 Approved as complying with the
Florida Baigi ode
Date \
NOA#
Miaminldel'mdmControl
Div
By, 4
MIAMI—~DADE COUNTY
0.050" SOLID BERTHA ALUMINUM STORM PANEL ‘ssjj"‘;.'""
, 8/27,/01
{ '"_ lE CO inc .\. EASTERN METAL SUPPLY, INC DATE
- . 4268 WEST ROADS DRIVE
m TILLT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 01-058
- f.LL) NW J8th. {ﬁ 7, VIRGINA GARDENS, 1 33188}
7,':-',?'_"” ;"; (305)871-1531 Y. Mo oexceeon | o | mv e DESCAPTION PATE DRAWING No
VV@ it mﬁ’ggﬂ'} L741¢.I:L 5 ./:4’4;75 ; MH : - —— SHEET 5 OF 15




S~ T2 T
a v : ‘
CONCRETE ANCHORS CONCRETE ANGHORS : |
] // // &= WULE)'\_ 8 o= SDHM)\_ |
e s 1
\_ EXISTING _ = Y ¥ .
1 1/4° MIN. — 2" J 1/2 e BRICK VEENER . N _—f 28 = $ 8‘3
PmmungLN ocrg Max / , — “!‘ i
g ! | § H
& 2° TO CONCRETE POURED » ! & '
cancreTe o conouRED w !
d L : a ! cont. REGUIRED . [
——t4-—-H--—- Cant. ' DO I '\i . ! ot
¢« o[ Vol | == Sy
a a ~y ] o T
a T | | | |
/ ’ ! easovg—" . @ = EXISTING A |
| GLASS | I 5 GLASS SEE SCHEDULE FOR | | C)
| | f Min. SEPARATION l | h
| SEE SCHEDULE FOR L & [ O Gss | g
, , [ Min. SEPARATION L . I A :
j \ Z ' | TO GLASS Lo g [ T\ : .
“axg” £ I .
OR CONCRETE. ELOCK @ e TS wheHoRs : [ Lo 2 : : t
WALL REQUIRED B (SEE SCHEDULE FOR SPACING). ! l A ! g l " I
1 I DETAIL
H /\’ { 1/4" “le20 x 1" ssMS b E : . ; g..
1 &’/ /\/ T e F%. € : : g | 3 |
N
) 3 -
i Lo | N | :
"10’ GLASs I I 3 ! l Lo g s 20 5 1 ssus | }
L ; : ! : i ies 5 i :
b 5 | Q<
I l 7z 7| | 3
B e T? s — ol
EXISTING ~
//% BRICK .SILL o I g N 7 ' Lo S / / 7 : ‘_®
1/4° #-20 x 3/4° | | @ BLOCK WALL 3 /] | POURED 7
T BOLTS W/ 7/8"8x | % REQUIRED i ' Lo CONCRETE s |
! /32 W W @ L ¥ 7 [ ooce Wit & ] L
: . I | : J z . .: : REQUIRED u ? :
| PENETRATION 76 | = Mp. | | J 2 |- | l @
—®) CONCRETE ANCHORS Sl |
: & 275 CONCHETE : ! (SEE SCHEDULE) ap;mednscomplyingwiththe =il NT
‘ Buiding Code CONCRETE ANCHORS A .J75"
| | Dat 'SEE SCHEDU
' [ Cont. NOAR( LS ¢ e INTERIORLY REMOVABLE PANEL (D)W/
‘ _ | Miami Dade Produict Control SIDEWALK BOLTS (SEE DETALL 2)
I c-==2 , Divisi Cont. CON 10 (1) THRU 5/8"%
i I By Zé%gg é !Z én/ HOLES AT (1)) @ 6" O.C & FASTENED
| . 4 AT REAR W, 7/a "#x3/32" WING NUT
| | | SECTION 14A SECTION 148 0 'EVERY ‘SIDEWALK. BOLT.
- g1
] ] / / }/ / / S | L
ALL M G INSTALLATIONS
! : . . ! — 2" "’Mf._—"l Cont, UNT,
Max. 3
, 1 ESTNG CTIONS
BRICK SCALE : 3/8" = 1"
VEENER
POURED CONCRETE 1/4"#x8" ELCO maie
OR CONCRETE BLOCK PANELMATE TVAS ANCHORS
WALL REQUIRED (SEE SCHEDULE FOR SPACING).
BUILD OUT INSTALLATION —
TION 13 R P 1) MIAMI~DADE COUNTY
SCALE : 3/8" = 1* - 0.050" SOLID BERTHA ALUMINUM STORM PANEL Ao
NOTE FOR COMBINATION OF SECTIONS : —
7,/01
WALL MOUNTING SECTIONS CAN BE f I l e — E foyi
COMBINED IN ANY WAY TG SUIT ANY INSTALLATION, ILIEC O ixe. EASTERNmA:L;ZfIl;wfng;P LY, INC
(; <®> M%JW COMPANY | RMERA BEACH, FL 33407 01-058
Fhone : TI=1850 . Fox ¢ (S08)071 1031 DRAWING No
d mrEREi.%aljfy? .1/2 P. E n:“ o se-172 AV%%: uv’u- - nin
V‘W? @ FLORIDA Lic. f 44187 n e : = =1 SHEET 8 OF1i15
/’ v




SEE SCHEDULE FOR
Min. SEPARATION =
TO GLASS

pme e

A

|
|
|
|
|
|
|
I

\{

¥
!
I
|
|
!
|
!
|
|
I
!
|
I
!
1
!
|
!
|
|
!
|

7/8° # x 3/32°
WING NUT ©

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

I~ EVERY STUD

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 8)

i 0120 C Y
@___..‘ 7/8" # x 3/32°
Cont. E : :
'S : S %
"3 L ék IL &3 @_.._."
T LTl d
i T
POURED_CONCRETE: I ye SLAB IF !
REQUIRED I APPLICABLE -
X LSS SIS NS S evee oF
co?gggrgcznggs;f £ D @gu% caucnm-—/ I I Py f’i,.ﬁ IC”:BLE
CONCRETE ANCHORS / y
(SEE SCHEDULE ) . E D o |

33
&
>/°§.

SECTION 19A

.1875"°

{1

|
R

.1875*

16"0. c \
L. <.J

i
)

i

THRU KEY HOLE
W/ 1/4°-20 NUT AT REAR.

SECTIONS 135

SCALE : 3/8° =
1/4°-20x1" 5.S. SIDEWALK BOLTS,
W/3/4" SLOTTED HEAD, FIXED

Y REMOVY) PANEL

e 8" o.C

I
|
|
|
!
|
|

7 !
L]
1/4” HOLE @ 6~ O.C.

~.050"

SCALE: 1* = 1*

,-

REMOVARLE
PANEL

|
I
|
I
|
!
|
l
|

INTERIORLY REMOVABLE PANEL @ w

SIDEWALK BOLTS (SEE DETAIL 2)
THRU 5/8"8

CONNEGTED TO
HOLES AT O 6" O.C & FASTENED
- AT REAR W,

7/8"9x3/32" WING NUT
0 ‘EVERY SIDEWALK BOLT.

SOONNNNNANNNN

ANCHORS
(SEE SCHEDULE )

|
l
i
|

l SEE SCHEDULE FOR
=~  Min. SEPARATION -=

TO GLASS

‘?

7/8" # x 3/32°

WING NUT ©
EVERY STUD
0 12° 0. &

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

p

A

CONCRETE  coNCRETE ANCHORS

REQUIRED

(SEE SCHEDULE )

T,

17 =

i wriced [ o3

Jl/{//// NS TS |

SECTION 16A

WITH INTERIORLY REMOVABLE. PANELS (1)

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 10 & 11 OF

15)

NOTE FOR COMBINATION OF SECTIONS :

FLOOR/CEILING MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO

SUIT ANY INSTALLATION.

’7/"473»

NG & [0) /]

AOVNOUGS

e

I
l
l
|
l

SEE SCHEDULE FOR
l—— Min, SEFARATION
TO GLASS

|
I
|
l
|
|
|
|
|
|

EDGE OF ! ALTERNATE 1EG 3

7/8" 8 x 3/32"
WING NUT O
EVERY STUD
0 12" 0. C. ‘

E!-’é}g_

Cont.

LOCATION

E. D,
N
NN NN
Cont.

i

Max.PANﬂLBVGTH(SESCHEDUlESHETQ)

K

~——_

-1
o

SECTION 168

G _INS

SECTIONS 16

SCALE : 3/8" = 1°

Approveu ds Coampiyaity wat e
Florida B oide

Dete0 2

NOANOL~ !
Miami Dade Product Contrel

W ol

17—
il Pourep _/, |
CONCRETE ANCHORS
LJ CONCRETE [}
REQUIRED (SEE SCHEDULE ) £,

INTERIORLY REMOVABLE PANEL
SIDEWALK BOLTS (SEE DETAIL 2)

CONNES Ta

HOLES AT

TALLATIO

AT REAR W,

@ 8" 0.C & FASTENED
7/8"8x3/32° WING NUT
© EVERY SIDEWALK BOLT.

MIAMI-DADE COUNTY

Dw/ -
THRU 5/8"8

/ IIthECOm;‘.‘ \

THLT
a588 NW. Jath,
Phane : {.

WALTER A. TILLIT Jr. P. E.
FLORIDA Lic. f 44167
S A

0.050 SOLID BERTHA ALUMINUM STORM PANEL e
8/27/01
EASTERN METAL SUPPLY, INC ure
4268 WEST ROADS DRIVE
PANY RIVIERA BEACH, FL 33407 01-058
Ste. 217, UNRGINWA GARDENS, f1 33138
7""'5‘6&;‘;,5.”””"”’ ¥, N ‘DaCRETION o] mv e DESCRPTION [0 ORAWING No
- e f;,"m . - SHEET 7 OF 15




1/4" Max. GAP

A/ N\

1/4" Max. GAP

/ \

SECTION B—-B
CALE : 1/8" = t*

o

7777 |

14B/86, _’ 14A/6,
(WHOLE) (MHOLES) 15,168/7 15,16A/7
BUT NOTCHED 1/4°=20x1" 5.5. |
EA CORNER © SIDEWALK BOLTS.
gggv?: AS [~ SEE DETAILS 2/7,
A ' L 215 R (WHOLE)
L 4 { .
@ v
INTERIORLY REMOVABLE PANEL D)W/
e e SIDEWALK BOLTS (SEE DETAILS
S 2/7, 2/14) CONNECTED TO () THRU
& 5/8"¢ HOLES AT () @ 6" O0.C &
N FASTENED AT REAR W/7/8%#x3/32"
WING NUT © EVERY SIDEWALK BOLT.
= @ } 0 @ =
I L2y \_@ or(D or ® l
\yu J U
L’MB/G. _’14A/6
, 15,168/7 15,16A/7 |
T CONCRETE ANCHORS (SEE SCHEDULE) B
Max. - Max.
1 Min. 1 Min.

INTERIORLY REMOVABLE STORM PANEL
PARTIAL ELEVATION Y

. SCALE :

/8" = 1*

Approved as complyixig with the

Florida ing Code

Date 21 2
NOA#

Miami Dade Product Control
By

MIAMI—-DADE COUNTY

BHN

[ R O

~

/ llLlECOmc. \

COMPANY
W, .mn. su 217, VRGINA

1-]&” Fn (305)871-1551
EB-000671

WALTER A, m.urJr P E
- FLORIDA Lic. f 44187
SR

aumens 1. S3ten|

0.050" SOLID BERTHA ALUMINUM STORM PANEL vy
8/27/01
EASTERN METAL SUPPLY, INC DATE
4268 WEST ROADS ODRIVE
RMERA BEACH, FL 33407 01-058
Y. Ne DECAIPTION ATt | AV, e DESCAFTION AN DRAWING Na
4 e "w".’i% : SHEET & OF 15




S |

POURED CONCRETE

R conckm BLOCK B -
WAL REQUIRED 2°x 3" ¢ 083" 3105 H-14 OF. MAXIMUM DESIGN PRESSURE RATING "W (p.s.f.) AND

WTH ANCHORS @ 12° 0. C.

”
Vol — . CORRESPONDING N
=4
7 Ty
T
2 0514 on 600378 ALOY .§ ”Rmfggggf RATING o P/LW(H’-U muTg GLASS tad v caumfmzn

" Cont, Alum. ANGLE {SEE SECTIONS) OF THEM

POURED CONCRETE ¥ (p.s.t)
S\\/- OR CONCRETE BLOCK
CASE A {PlaQ} N WALL REQUIRED +65.0, -77.0 | 8'-0" OR LESS 2 1/4" ! THRU 8
' N

SCALE: 1/4" = 1~ +65.0, —-77.0 9'-0" OR LESS 3 11/16" 1 THRU 8
CA lan +65.0, -72.0 | 9'-0" OR LESS 3 1/2" 1
SCALE: 1/4" = 1* +62.0, -73.3 | 10°'-0" OR LESS 3 7/8" 2,6 7&8
+63.5, —-63.5 9'-0" OR LESS 3 1/2" g 14, 10
N ,
\\\, +65.0, —65.0 9'-0" OR LESS 3 12" 12, 15, 18
Q VARIES 5" i +63.5, ~63.5 | 9'-0" OR LESS J /4" 13
POURED CONCRETE N |
OR CONCRETE BLOCK N OR POURED CONCRETE
WALL REQUIRED N OR CONCRETE BLOCK
WALL REQUIRED
CONCRETE ANCHORS
J_ 012°0 C
N
73
I @@ ~
- /
JGLIO) 3oy 5 v asm Come. TR (26 costmon mmdwmv'vms with the
. Alumn, ANGLE OR
@/ ‘ ;| ORO @ .080" 3105~H154 SHEET g:;:“ Z-OO L2
== e === =\= METAL Alum. BENT PLATE | ; o]
1/4° lBOLT 4° x 4° x 072"
0 24" 0. J105-H14 OR 6083-T6 ALLOY ‘ By, L
Wacxnur Cont. Alun. ANGLE 7 :
CASE B (Plan) | o CASE C (Pian)
SCALE: 1/4" = 1° SCALE: 1/4" = 1”

END CLOSURES DETAILS

MIAMI-DADE COUNTY

0.050" SOLID BERTHA ALUMINUM STORM PANEL "555”": ? r”"'
8/27/01
|| L l ECO ine EASTERN METAL SUPPLY, INC DATE
THLLTT TESTING & ENGINEERING C SORPANY 4268 WEST ROADS DRWE
%ﬁf@ 4385 N.W. 38th, m}, 7, VRGN GARDENS, A1 33188} RIVIERA BEACH, FL 23407 01—-058
Phane : 751%;; (305)871~1531 ™ s l V. o PAPTION DATT DRAWING No
- WALTER A. TILLIT Jr. P. E oD s6~172 |27/t 3 - =
V ~ LORIOA, Lic ¢ 44187 " e 1@, - —— SHEET 9 OF 15
e I




AU MAXIMUM ANCHORS SPACING FOR E. 0. = 3 1/2°% . %73 O PANEL
DESIGN LGAD REGULAR TAPCONS . CRETE-FLEX 554 ZAMAC NALIN CALK-IN CF TAP-GRIP® - PANELMATES PANELMATE ALUS 410 S5. TAPCON ANY COMBINATION LENGTH 1° (R.) .
W a0 MASONY | T0 CONCRETE| TO MASONRY | TO CONGRETE | TO MASONRY | TO CONCRETE | T0 MASONRY | TO CONGRETE | T0'MASONRY | TO CONCRETE | TO WASGNRY | T CONGRETE | T MASONRY | T CONCRETE| TO MASOMRY | OF THEM £ O. = EDGE DISTANCE
a° N/A N/A N/A 4+ N/A a” N/A 5° N/A 3 1/2" N/A N/A N/A N/A N/A 1 (TOP)
12* 8" NAA N/A 12* 10" 12° . 12* 12° 8 1" 1* 12* 12° N/A N/A 1 (BOTTOM)
12* N/A N/A N/A 12* N/A 12" N/A 12" N/A 11" N/A N/A N/A N/A N/A 2 (ToP)
12* 8" N/A N/A 12* 10" 12* 12* 12° I of 1" 1° 12 12* N/A N/A 2 (BOTTOM)
12* N/A N/A N/A 12° N/A 12° N/A 12* N/A ot N/A N/A N/A N/A N/A 3 (ToP)
12° a° N/A N/A 12* 10" 12* 12* 12° . 8" n° 11° 12* 12* N/A N/A | I (BOTTOM)
12" N/A N/A N/A 12* N/A 12° N/A 12" N/A " N/A N/A N/A N/A N/A 4 (TOP)
12* a N/A N/A 12* 10" 12" 12* 12* 8" 11" 1° 12° 12* N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 12° N/A 12* N/A 12* N/A 1" N/A N/A N/A N/A N/A 5 (T0P)
12" g N/A N/A 12* 10° 12* 12* 12" a 11" 1" 12* 12" N/A N/A 5 (B0TTOM)
1" N/A 12* N/A 7 1/2° N/A 11 1/2° N/A a1/2" N/A 12~ N/A 12 N/A 12° N/A & (ToP/BOTTOM)
+63.5, ~-835| 10" N/A 12" N/A 8 172" N/A 10 1/2° N/A 7* N/A 12° - N/A 12* N/A 11" N/A 7 (TOP/BOTTOM) | 9'-0" OR LESS
N/A N/A N/A N/A N/A N/A 12 12* 12" 8" ' 8" 12* 12" NyA N/A 8 (TOP/B0TTOM)
12° N/A 12* N/A N/A N/A 12" N/A N/A “N/A 12* N/A 12° N/A 12° N/A g (ToP)
12° 8" 12* 12° N/A N/A 12* 12° N/A N/A 12° " 12° 9° 12* 10" 9 (BOTTOM)
N/A N/A N/A N/A N/A N/A 12* - N/A N/A 12* g" 12* a" N/A N/A 10 (TOP)
12 7 1/2* 12* 12* N/A N/A 12* 10 1/2° N/A N/A 12* 10" 12 8 1/2° 12* 9" 10 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 11" N/A N/A N/A N/A 13 (TOP)
N/A N/A N/A N/A N/A N/A N/A N/A N/A 'N/A i2* §° N/A N/A N/A N/A 13 (BOTTOM)
12* N/A 12" N/A N/A N/A 12* N/A N/A N/A 12" N/A 12° N/A 12" N/A 14 (TOP)
12* a" 12* 12* N/A N/A 12° 12* " N/A N/A 12° 1* 12" 9° 12* 10" 14 (BOTTOM) Approved as complying with the
12* N/A 12” N/A N/A N/A 12 N/A N/A N/A 12" N/A 12° N/A 12" N/A 12 (TOP) Florida B g Code 2
11" N/A 12* N/A N/A N/A 11 1/2° N/A N/A N/A 12* N/A 12° N/A 12* N/A 12 (BOTTOM) 3‘0‘;,, Z
iz WA 1z gk A A 127 M/ A | mA 12° N/A 127 N/A 127 N/A 15 (T0P) %’“‘“’”“‘m’“c'mm‘
1" N/A 12" N/A N/A N/A 11 1/2° N/A N/A N/A 12° N/A 12* N/A 12° N/A 15 (5OTTOM) MW%M\/
12* N/A 12* N/A N/A N/A 12* N/A N/A N/A 12* N/A 12° N/A 12° N/A 16 (TOP)
11" N/A 12* N/A N/A N/A' 11 1/2° N/A N/A N/A 12" N/A 12* N/A 12° N/A 18 (BOTTOM)
' N/A NA N/A 8" N/A & N/A & N/A & N/A N/A N/A N/A N/A Z (ToP)
& & . N/A N/A 8° 8" & &” 6" 8" & & N/A N/A N/A N/A 2 (BOTTOM)
+65.0, —65.0 6" N/Ak N/A N/A 6" N/A 8 N/A a" N/A 5 1/2° N/A N/A N/A N/A N/A & (TOP/BOTTOM) {$°~6° TO 10°-0”
8" N/A N/A N/A 51/2" N/A 8" N/A §" N/A 4 1/2" NAA N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A & & §" & §" 5* N/A N/A N/A N/A & (TOP/BOTTOM)
O e v L TELYING SACIG. SHOAN oW SCHEDULE &Y THE FOLLOWNG FACTORS.
(NOTE: Min. E. D. FOR CALK~IN ANCHORS IS 2 1/2%
e s e MR P i oy T o e e T %
—— ANCHORS LEGEND MIAMI—DADE COUNTY
ACTUAL £ D. | RESULAR TAPCON, 410 S.5. TAPCON, CRETEfLEX 5S4 CALK=IN  |cF TAP-GRIP ANCHOR TYPE g{.i':é:,”;‘\’,g 0.050" SOLID BERTHA ALUMINUM STORM PANEL AS Somn
o = S NI R R o
> = — — . . Py |||_ lE CO e EASTERngiETAﬁ%an INC oaTE
: _ M%ﬂdm m"‘@ﬁﬁ. RMERA BEACH, FL 33407 01-058
%@ Phane ; (308, 75’%’; (305)a71-1831 Y. Ae DESCRPION ] _OATE | AV s DERCAPTION AT DRAWING No
| Tt WATER & T L o ENN I [———




MR MMM ANCHORS SPACING FOR E. O. =~ 3 1/2"% mf’fg A PANEL
DESIGN LOAD REGINAR TAPCONS CRETE-FLEX SS4 ZAMAC NARIN CALK-IN CF TAP--GRIP PANELMATES PANELMATE PLUS 410 S.S. TAPCON ANY COMBINATION LENGTH L° (1)
W al) o NCRETE] TO WASONRY | TD CONCRETE | TO MASONRY | 7O CONCRETE| TO WASONRY | TO CONCRETE| TD MASONRY | 1O CONCRETE| T0 MASONRY | TO CONCRETE| TO MASONRY | TO CONCRETE | TO MASONRY | TD CONCRETE | TD WASONRY OF THEM E 0. = EDGE DISTANCE

8° N/A N/A N/A R ot N/A a*  N/A 3 1/2° N/A 2 1/2° N/A N/A N/A N/A N/A 1 (roP)
12* 7° N/A N/A 1" 8" 12° 10" 12* §1/2° | 91/2° | 9 1/2° N/A N/A N/A N/A 1 (8OTTOM)
12° N/A N/A N/A n* N/A 12" N/A 12* N/A 9 1/2° N/A N/A N/A N/A N/A 2 (T0P)
12° 7 N/A N/A 1" 8 12* 10° 12 s12° | 91/2 | 91/2° N/A N/A N/A N/A 2 (BOTTOM)
12° N/A N/A N/A 1" N/A 12" N/A 12° N/A 9 1/2° N/A N/A N/A N/A N/A 3 (TOP)
12° 7* N/A N/A m" 8° 12" 10" 12* § 1/2° 8 1/2° 9 1/2° N/A N/A N/A N/A J (BOTTOM)

+85.0, -77.0] 12" N/A “N/A N/A m" N/A 12" N/A 12" N/A 8 1/2° N/A N/A N/A N/A N/A 4 (ToP) 0" OR LESS
12° 7" N/A N/A " 8" 12° 10" 12* g 1/2° 9 1/2° 9 1/2" N/A N/A N/A N/A + (BOTTOM)
12° N/A N/A N/A .on* N/A 12° N/A 12* N/A s 1/2° N/A N/A N/A N/A N/A 5 (TOP)
2= |5 R/ NA ] 32 B iz" 8" 10” 5° 7120 | 71/27 | N/A C N/A N/A. NA | .5 (BoTTOM)

9 12" N/A N/A N/A 8 1/2° N/A 10" N/A 7" N/A 5" N/A N/A N/A N/A N/A & (TOP/BOTTOM)
a 1/2" N/A N/A N/A 5 1/2° N/A 8 1/2*° N/A 5" N/A 4 1/2° N/A N/A N/A N/A N/A 7 (TOP/BOTIOM)

N/A N/A N/A N/A N/A N/A 12" 8 12" 8" 8” 6* N/A N/A N/A N/A 8 (TOP/BOTTOM)
9" N/A 12" N/A N/A N/A 9 1/2° N/A N/A N/A 1m” N/A 12* N/A 10" N/A 7 (TOP/BOTTOM)

+65.0, -72.0, N/A N/A N/A N/A N/A N/A 12" o N/A N/A 12* 6" 12° 5" N/A N/A 11 (TOP) 9'-0" OR LESS
12 7 1/2 12* 12° N/A N/A 12" 10 1/2° N/A N/A 12" 10" 12* 8 1/2" 12° 9" 11 (BOTTOM)
5 NA N/A N/A 5" N/A 5" N/A 5" N/A " N/A NA N/A N/A N/A 2 (TorR)
5" 8" N/A N/A 6" 6" 6 6" 8" i 6" 6" N/A N/A N/A NA 2 (BOTTON)

1o20, -733| & NA N/A NA pe NA 6" wva | & ) 5* ) N/A N /A nA |6 (ror/eoTow |s'-a" o 10°—0" Aproved ds complying with the
s /A ) NA 5 N/A 6" A | 512 | .- N/A A A /A N |7 (ror/somrow) Pte Lol 21 2002
A MA | A N/A N/A N/A 6" . 8" s 8 6" s N/A N/A N/A N/ |8 (Tor/BaTTOM) Miami Dade Product Control

By A

» MAXIMUM ANCHOR SPACINGS ARE VAUD FOR 3 1/2° EDGE DISTANGE, FOR E. D. LESS THAN 3 1/2°
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
i-mm in, £ 0. FOR CALK—IN ANCHORS IS 2 1/2%)
TON 10 GE FOSIBLE, REDUCED SPACING OBTANED USING FACTOR SHALL NOT BE
Lsssmmmuuusmcmmamrmmnmummm T ANCHORS LEGEND.
ANCHORS LEGEND
FACTOR
ACTUAL £ D. | REGULAR TAPCON, 410 S.5. TAPCON, CRETE-FLEX SS4, Min,
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. CALK-IN . |CF TAP-GRIP ANCHOR TYPE _ acron
- -
3 86 75 1.00 REGULAR TAPCON, 410 S.S. TAPCON, CRETE-FLEX 10"
7 12 =7 =0 ) ZAMAC NAILING, CF TAP—GRIP, PANELMATE OR mamrr PLUS.
P2 50 ~ _ CALK—IN 25"
MIAMI-DADE COUNTY
0.050" SOLID BERTHA ALUMINUM STORM PANEL Ao
8/27/01
|"_ I ECO ine EASTERN METAL SUPPLY, INC DATE
- 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 01-058
” 8385 N.W. J8th, Ste, 217, VIRGINIA GARDENS, FL 33158}
‘ Fhore : (308, 5’55%0;;, (305)871~1531 g™ EOCRPTION T o l AV, N DEICAPTION DTS DRAMNG No
i ; WALTER A. TLLIT Jr. P. E. ] o se-173  laazm] 3 = pa
q/"’@“’ ~ FLORIDA Lic. # 44167 7 SENERAL jm%r < - — SHEET 11 OF 13
-7 R B




- . TUBE W/ 1/4° # x 4° LONG
A 1/4 H‘Ja_Lg.NGaMWG/ A LAG SCREWS @ 8” 0. C. A - ws 012 c
1 27/32° Min. PENETRATION - W : T . e a4 x 3" Up 10 3-9° ANO
10 EXISTING WOOD % /] 1/4 9 x 3° LONG LAG SCREWS o/s"axc | LONG LAG SCREWS oGy SR SPANS. P
HEADER. / [/ @ 6°0.C W/ 1 27/32" Min. A TN 1{9 %N-’é Min.
¢ ¢ PENETRATION TO EXISTING WOOD ' o s W w
L/ v ’ ; —0 cont. SPAN UP TO 9°-0"
% L/ .ﬂ A 1/4° #-20 5. 5. BOLTS O
A L/ 12° 0. C. W/ NUT & WASHER
“
% I L/ i g
Cant. /| ! 9 |
g | % / <
L/ ‘ / o Cont. ¢ 2 "
- - ] | § 9
| . Wo0D HEADER L @ j | o g
3 ' g l F I g 8
~ WOOD HEADER
g | s s:mr e ron_| | & EE SCHEDUE FO l & REQUIRED f o] >
Q GLASS : g TO GLASS } f | < ﬂ
e ] | s : D | memuen || f8 :
4 ‘H‘ —— A hat ALTERNATIVE 5 ) "0 GLASS ' g
]
&
AITERNATIVE 1 5 ] g § L. I * l g
frex /4 s s | : AI AL 3 |
, % M S5 @6 0 c ' g i g | g
T 1 g ALTERNATIVE 7 ®
Q
e iy B s | E 4 :
- ¢ | | 1/a%m-20 s S | 0] 9:-/ 3 el
- " S. .
| 772" 8 x 3022 ; | %Ew{z/u' ............. : 4% '\il
b~ x ‘
% l A e, NG T l 4 ~;<\— 0 MDMDTH OF PLATE
A ' / / T i A
: - " 9-20 x
&1 ¢ a Y ss AW B F Oty
' ] 7/8% x /32" % FOR SPANS UP TO 58
/ / iy e S g0t e e
4 % : ;;aﬁféxAiJrﬁs'nsg?)(cm ) @12°0 ¢ “ 2 Bt ciofoncie
12 4 o el R % ' ' / TR i PeRETATION”
1* Required SCREWS © 87 0. C. W/ (2) 1/4" # x 4" LAG SCREWS 1/4° 8 x 3" LAG |/ SPANS UP TO 9'-0°~
% ‘L\ 1 27/32° Min, PENETRATION |/ O’ EACH STUD (MIOWIDTH SCREWS @ 6” 0. C. W/
| ' O MIDMDTH OF PLATE. OF STUD, 2° Min. NOMINAL) 1 27/32° Min. PENETRATION “ A
1 A\ AND W/ 2" ifin. PENETRATION © MDWDTH OF PLATE, v
INTO EXISTING STUD. Approved as complyiag with the ALTERNATIVE 8
ALTERNATIVE 2 ALTERNATIVE 4 ALTERNATIVE 6 f,‘:,?q’é‘jz_?‘}g %"oz
' NOA# , (
A i - Miami Dade Product Control
Divisic
{ G ; | By, .
- SECTIONS A SCALE : 1/4" = 1"
%}_’;ﬂ-’ﬁ; S8 : NOTE _FOR_COMBINATION OF SECTIONS:
/88 x 3/32° . WALL MOUNTING SECTIONS CAN BE COMBINED :
} TR A S, INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS
7 .
% -
Gl g
BL L/ Cont.
% L\ 8 NOTES: v MIAMI—DADE COUNTY
4 o . . 1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0, 0.050" SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
" e o xsae y ~72.0 psf AND PANEL'S LENGTHS UP TO $'-0“ EXCEPT AS NOTED. SCALE
; ReD LA 7 27/32° Min. PENETRATION 2 NEW 2" x 6" P. ; 10 BI:;_, SOUTHERN PINE No. 2, SURFACED DRY WITH ” a/22/01
& | o wiomorH oF PLATE. 19 X M. M. C. W/ SPECIFIC DENSITY OF 0.55. { l | E EASTERN METAL SUPPLY, DATE
/1 \'\ 3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN ILIECO inec. 288 wesT modss e INC
h PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. %@ T + AN ot e . weey 01-058
) . > 8383 N.W. J8th, Ste. 217, VIRGINA GARDENS, Fl. 33188 '
AL 1 EZS NA 1 ’ Vé J Phane < ’f';:é?laa;;'rs Goojaz=tat Y. N [ ] { b | MY N DEscAPTION (13 DRAWING No
¢ A iT Jr. P. E an se-172 R/27/0% F] - -
YA )o— WG Lo g Satar z T L - = sweeT 12 oF 1

1% x 2" x .125" (Min.) Alum. -




i

WOOD TRUSSES OF FAFTER
@ 24 0. C. REQUIRED

X
1"%x 4" x 1/8° Ly /
Min. (8083-T5 9 5°0 C $ 2)516'!::4
o W) A §S Bk Ciaws 7o
R {%5,0.,,4. - ! EACH JOIST.
. n X | %o n LOCATE SCREW
£ LS AN l 4 EACH JOIST, | AT MIOWOTH OF
, 5 M, LOCATE SCREW SEE SCHEDLE FOR EX)STNG WooD
980 cC | Cont. prappi s M. SEPARATION | MEMEER (2° Min.
—h— EXISTING WOOD ™o auss VAL WIDTH)
| MEMBER (2" Min 3 | W/ 2° Whin.
SEE SCHEDULE FOR ! NCMINAL WIDTH) PENETRATION
—~§ M, SEPARATION l W/ 2% Min.
O aAsS PENETRATION. )
5/ 4 BoLTS W/
0] Iy T ~®
NG NUT @ 2y 8
2 6 2o ¢ WOOD DECK
»
WOOD DECK . REQUIRED
REQUIRED (NO FINISH
(NO FINISH ALLOWED)
j ALLOWED) Cent.
: ) S v,
/ oL ra
I 1/2° LAG SCREWS ;/::-oxcr 1/2° LAG SCREWS

SCALE : 1/4" = 1"

NOTE FOR_COMBINATION OF SECTIONS:
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE

OUNTING INSTALLATIONS

ALTERNATIVE 11

*x VALID FOR Max. +63.5,

COMBINED IN ANY WAY TOD SUIT ANY INSTALLATION.

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
—72.0 psf AND PANEL'S LENGTHS UP TO 9°-0%, EXCEPT AS NOTED.

2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
19 X M. M. C. W/ SPECIFIC DENSITY OF 0.58.

J. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

/4" # x 3% LAG
SCREWS @ 6" 0. C. W/

1 27/32" Min. PENETRATION
© MIDWIDTH OF PLATE.

—~63.5 psf.

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

1/4"9-20 S.5.
i

SCALE : 1/4" =

Approved as complying with the

Bulding Code
gﬂ%ﬁ%@%ﬁ&z
NOA#

By

-

(R

1/4% 8 x 3" IAG

CREWS @ 6 0. C. W/

1 27/32° Min. PENETRATION
©@ MIDWIDTH OF PLATE.

ALTERNATIVE 14

Dade Prodect Control

o

MIAMI—DADE COUNTY

EB-0008719

WALTER A TILLIT Jr. P,
FLORIDA Lic. # 44187
AL S

0.050" SOLID BERTHA ALUMINUM STORM PANEL ‘sﬁ"“’
&/27/01
EASTERN METAL SUPPLY, INC DATE
4268 WEST ROADS ORWVE
GARCENS, £1, 33188 RVERA BEACH, FL 33407 01—-058
71—1&” Fax : (m’)—ﬂ-ﬂ rryr™ ru"_ l Ty AT DRAWING No
7" : Mm_“—m }:ﬁ’m 3 - ~—{ SHEET 13 OF 15

[/ TILIECO e \

4585 JIM. g} Sfl. 217, VIRGINK
N.W

"7//7'\A“7 O~



1/4°# x

LAG SCREW O 4° o.c.

SEE SCHEDULE FOR
Min. SEPARATION -

' 7/8% x 3/32"

ALTERNATE LEG _ Cont
LOCATION

! 1/2° 8.8,

TO GLASS

ALTERNATIVE 15

WING NUT © ~
EVERY STUD
@ 12° 0, C.

0

-0
L

1,128

2* y 621

MOUNTING INSTALLATIONS

l-1/4'l x 1 1/2" LAG SCREWS:
0 6" o,

ALTERNATIVE 16 *

LEILING & FLOOR

SCALE ; 1/4" = 1"

-4 x 8° (Min) EOSTING . .. - .
£ WOOD BEAM REQUIRED. -

1 7/8° Min.

EXISTING

* VALID

NOTE FOR_COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SOUTH FL. BUILDING CODE.

ALTERNATIVE 17 *

FOR Max. +63.5,

SCALE : 1/4™ = 1*

PENErmnaN\ r‘uz.,,,‘ [ BRICK VEENER 1/4"9x8" ELCO male
o PANELMATE TVAS ANCHORS
= “/\\\;k\ ' ;-/Jélao' | 0 12°ocC
; gl g
{ .
Y\== = 3 33
= v d - 1IC ;
/] T - ' ¥
wooo A~ . \ & / {
HEADER -] |
REQUIRED "; ¢ , / | ~_Qnt.
L, EXISTING |
STEEL ANGLE LINTEL P
AS APPLICABLE
1 ! | O
I SEE SCHEDULE |
H__._______ FOR Min, _____ | -
SEPARATION 2
H TO GLASS | 3
I | :
[ / A $
T I\\/ /\; l w
[ | é
I : &
| g
| 2
EXISTING | Q
e N BRICK SILL | ..,.() §
WOOD 4] RRE !
PLATE |/
' ! |
y /] { i A0 I
1 7/8" Min. APPLICANLE I
PENETRATION |/ ﬁ\— = 1
- |
| \ ™ thax "V Yoy v ]
BRI RS KR PRI RRRRIR R
exsTve—"]/] . % ’ |
2"k 47 sTuDs . /lhl %
¥ :
0 167 0.C Max. REQD EXISTING Min. 1,/2° PLYWOOD \—EXISTING RS
: REQ'D (TYP) W/ FASTENING BRICK SILL /1 /4" ge20 x 3/4"
1/4"8x8" ELCO male PANELMATE TvAS- TO STUDS AS PER BOLTS W/ 7/8%
ANCHORS @ 5* 0.C. TD EXISTING PLywoop  SECTION 2909 OF THE 3/32° WING NHT

0 12°0. C

—-63.5 pst.

1/4" # x 3" LONG LAG

-

SCREWS @ 6" 0. C. W/

A 1/4" 8 x 3" LONG LAG
SCREWS © 6~ 0. C. W/

1 27/32° Min. PENETRATION

L/ 1 27/32" Min. PENETRATION v
TO EXISTING WOOD TO EXISTING WOO0D
A HEADER. 1 IEADER,
/1 L/
L/ . /]
/1 3§ L
L/ - L/
“ ; | ' /1
/] i "
1 ~ W\ : 2) Cont. A (2) cont.
frpe=1 LD
EAD) ' 8 HEADER
e B O s OB
| g SEE Fggﬁl?uw &
e sooepus | | 5 Ko :
SEPARATION | [ = o 2
TO GLASS = —4 A L "
_ A I
 gamnd | 4 d g
4 T - I O ]
; o
~(D § !
IﬁNG—/ | -1/48~20 5.5. 3 | g
| X gours wy l /47820 S.S.
| /| 7% x 37220 sors w/ 3
WING _NUT ’ ~7/8°8 x 3/32
Cont @ 12° 0. C ’ z]N’Gz !wéT c
AL
- IR
H< .
/1 AN o
v ; /4" 8 x 3° LAG & V1
% oz i reimanon V] G
“ 4" in. SCREWS © 6° 0. C. W,
N2 dedured O MIDWIDTH OF PLATE. 4 rcz;'/Jz Min, PENETR{TION
A 4 O MIDMDTH OF PLATE.
% /| INTERIORLY REMOVABLE -PANEL(T) W/
' % SIDEWALK BOLTS DETAIL 2)
¥ . CONNI 70 Q1) THRU 5/8%8
ALTERNATIVE 184 + DL s e ¢ dt
AT REAR W/ 7/8"#x3/32" WING NUT

ALTERNATIVE 188 +

* VALID FOR Max. +63.5, -63.5 psf.

SCALE : 1/4" = 1”
AINSTALLATIONS

VALID FOR PAN

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

Appraved as ‘complying with the

Florida Bujding C
Date)2/ 21/
NOARQ [~ OST (.0

@ EVERY SIDEWALK BOLT.

USED JOINTLY

Mismii Dadé Product Control
NorES: gw\/ MIAMI-DADE COUNTY
1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0, 0.050" SOLID BERTHA ALUMINUM STORM PANEL ASS&SAHL%WN
—65.0 psf AND PANEL'S LENGTHS UP TO 9°-0°, EXCEPT AS NOTED. )
2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH { 8/27/a01
19 X M. M. C. W/ SPECIFIC DENSITY OF 0.55. ; L E C o EASTERN METAL SUPPLY, INC ATE
J. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUﬂ'lERN IHC 4268 WEST ROADS DRIVE
PINE Na. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. ”,,‘ RIVIERA BEACH, FL 33407 01-058
FI
— MMNW Jm ”"'f‘” ;;" (‘”5)"'"‘”' ALV, Ne oescarenow | o ] av. e DrICAPTION [T3 DRAWING Na
e - TER A TILLIT Jr. P, E t oD w-172 |87 & - -
L/ ) o~ W ORI Lic, f 44167 Z [ R 7 = = SHEET 14 OF 15




-

B

.

1/#°8 x 1 1/2" 5.5,

LAG SCREW @ 4" a.c.

4" x 8° (Min.) EXISTING
WOOD BEAM REGUIRED.

STRUCTURAL ADEQUACY
OF EXISTING WooD

- ALTERNATIVELY, TRACK @ MAY BE ATTACHED
TO HOLLOW CEILING AS PER DETAILS SHOWN
ON ALTERNATIVE 9A, SHEET 13 OF 15

1/4°8 x.1 1/2° S.S.
LAG SCREW O 4" g.c.—

|~ ¥" x 8" (Min.) EXISTING
£l WOOD AEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING wooD

ALTERNATIVE 194

CEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 19
SCALE :

1879° 1/4°-~20x1" 5.S. SIDEWALK BOLTS,

W/1/4°-20 NUT

@ EVERY SIDEWALK BOLT.

O EVERY SIDEWALK BOLT.

ALTERNATIVE 198 ALTERNATIVE 204 ALTERNATIVE 208

1/4" = 1° Florida Bujding Code
: ’ Date, l (oY 2
NOA¥

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

Approved as complying with the

SCALE : 1/4" = 1"

_'Q.L_D.SJJ:-QSG
Miami Dade Product Control

@__\r-—- W/3/4" SLOTTED HEAD, FIXED
INTERIORLY REMO PANEL
THRU KEY HOLE o 8° o.C.
N . REAR, /@ NOTE FOR COMBINATION OF SECTIONS: , LW
PANEL

room/caun woumne secrons ow g | [NSTALLATION DETAILS ON_EXISTING WOOD BUILDINGS

NOTES:

1/4°8 x 1 1/2° 5.5.— : 8EAM TO BE CERTIFIED 1/4°8 x 1 1/2° 5.5 — BEAM TO BE CERTIFIED
LAG SCREW © 4 a.c. / Off ARCHITECT FROR e screw & 5 ae. |/ 2 oY FEGISTEVED ENGNEER
/ T0 SHUTTER INSTALLATION. (+) . TO SHUTTER INSTALLATION, <+) .
/! . f S /' . | S
i S o o
S I S ‘ ?
—+ I —+ N, 1 -+ I -+ |8~ |
1 Cant. B} | 3 i Comt 2 | |
. Q Cont. o \ “ont. Q Cont. |
| g 1 g | P 3 | 1
SEE SCHEDULE | g A see screpue | *ué" s 2 A see_scuepue l — §4
/._ FOR Min. __| | -@ g SisTNG ~ FOR Min, | -@ 2 Va ] S gosve FOR Min. | 1 &
e SEPARATION | " SEPARATION | H ExTvG s&:msgﬂgguw | : SEPARATION ~ ] ‘ a
a 70 GLAss < ™~ SEPARATION 2 O) g 3
‘ rd z TO GLASS I = A i z
_ £ ] N = A Ly
i § — DETAIL 2 T § | § —4— T ]
o ——‘\—I—- K l g A .I_J\,..J_.- 'g’__ ‘ -@ =
—t ‘-—-N_’_] g s - . r d %
| X ' "@ & l i E ! |
.@ 5 | 3 “@ ¥ — DETAIL 2 o
: 3 @\ ( 3 3 | g
. . | V—7/8" 8 x 3/32" —7/8" # x 3/32" | A—7/8" # x 3/32% 3
e f,,/ﬁe e ':,/"2 WING NUT O WING NUT @ WING NUT © %
EVERY STUD EVERY STUD EVERY STUD EVERY STUD
0120 C ) . C. @ 12°0. C. | | @zoc
g ! o ®
Cont.
1 1; ":}- 200" ; 280"
: i =5 i
T 2*x 8" 2% 4 4"
\—Vi WooD DECK ,‘F
roio | g A
L wrerorey sewowsie PANEL (D W/ INTERIORLY REMOVABLE PANEL (7) J Z
1/4° x 1 1/2° 1AG scmvs/ 1/4° x 1 1/2° LAG sc:was/ SIDEWALK BOLTS (SEE DETALL 2) / SIDEWALK BOLTS (SEE DETAIL, 2) lgte x 1 1/2° LAG SCREWS
0 6° o.c. 0 6° oo CONNECGTED TO THRU 5/8"¢ 1/4°8 x 1 1/2" LAG SCREWS. CONNECTED TO THRU 5/8°8
HOLES AT ({1) @ 6" O.C & FASTENED 96" ac. HOLES AT (1) © 6~ O.C & FASTENED
‘ AT REAR W] 7/8°8x3/32° WING NUT AT REAR W] 7/8"#x3/32° WING NUT

MIAMI—-DADE COUNTY

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0, 0.050" SOLID BERTHA ALUMINUM STORM PANEL AS_SHOWN
—65.0 psf AND PANEL’S LENGTHS UP TO 9°-0" SCALE

2. NEW 2" x 6" P. T, TO BE szourHER/v PINE No. 2, SURFACED DRY WITH 8/27,/01
19 X M. M. C. W/ SPECIFIC DENSITY OF (.55, l". l E C o EASTERN METAL SUPPLY, INC DATE

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN INC. ; 4268 WEST ROADS DRIVE
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. murT mm COMPANY RIVIERA BEACH, FL 33407 01-058

MMNWJIM.SL VIRGINWA GARDENS, Fl. 33188 )
SCALE: 1" = 1" ( ;"t'-a'f",%a Fox : (305)871~1531 Y. Ne RPN | DATE ] LY. Ne DLICAPTION DATE DRAWING No
WALTER A, T.’LLIT J B E ! oD sa-172 18/27/01 3 - -
@ FLORIDA Lic. § 44167 7 w111 : - SHEET 15 OF 15

N ) o~




